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Figure S1. Refer to Figure 1B in the main text.
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Figure S2. Refer to Figure 1D in the main text.
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Figure S3. Refer to Figure 1E in the main text.
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Figure 54. Refer to Figure 3A in the main text.
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Figure S5. Refer to Figure 3B in the main text.
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Figure S6. Refer to Figure 4D in the main text.
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Figure S7. Refer to Figure 4G in the main text.

HONE-1

NT siLCN2 NT siLCN2
U0126 2pM) — — =+ =+

180=
% B S B = MET (140 kD)
130m=
100 149 53 99
43 -
- esrasr e = B-actin (42 kDa)
100 83 100 103

Figure S8. Refer to Figure 4H in the main text.
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Figure S9. Refer to Figure 4l in the main text.
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Figure S10. Refer to Figure 5A in the main text.

HONE-1

NT SiLCN2 NT siLCN2
NT NT siMETsiMET

S SR e g~ MET (140 kDw)

—— — —

180m=

130=
100 182 72 104

$ = eeeeeswesswsw® - f-actin (42 kDa)

100 91 91 84

Figure S11. Refer to Figure 5C in the main text.



